HQO0O07 mult?comp

Specifications:
Material : Aluminium Alloy #ADC-12
Finish : Natural (No Suffix)

Gray (Suffix-LG)
Black (Suffix-BK)

1) Six (6) M4 x 20mm (0.787”) LG Screws
Supplied for Assembly of Cover to Body

2) All Hole diameters have +0.1mm tolerance
All other dimensions have +0.3mm tolerance

192

185.70 4,20 10
LID 182,70 ; l__ﬂ
177,10 = F
A 11
169.8 @ 82" CSK
DETAIL A-A DETAIL B-B
~ ~ —T
/@\ /(O)\\ s
Wi , =T =Y - )
() E' <t HOOOST-2007/11 ;;j L. Z
L] 100 =] 96X192X1F mm B ] %
(" & 7
Vi 140 \‘1 z
790 7
2| of B| B| 2| == v == = ?
SEEEE: s % q : ;
139.8 Z. o ;
‘4".2‘“‘“ “—Ermr-PEER - FIACES 29.9 g
E 11 ACCEPT ¥3.5 *6mm GROUNDING SCREW - ] 7///2
\ }.{ %E @ _ /) -, gt V2
- i T J 1.3 2 Z
~ Y T~ T 7 - a
<) — |
& N H@/ 4
135.8 | 8
159.8 3.2
e o
I — 1 T T 1
o =N = = DETAIL €.
- -
7 174.8

Dimensions : Millimetres

www.element14.com @
f Il.
winwnewark com multlcomp

Page <1> 17/03/14 V1.0



HQOO7

mult?comp

192

8

BASE

187.00

M4*0.7 THREAD (6) PLACES

181.40

178.40

172.80

1 11

169.8 &/

Lo\

‘o

DETAIL A-A

DETAIL B-B

B HQUO7B 2007/11 A A

ﬂ)ﬂ 92%52 mm 24.6

TS
L o B, DIA 3.2m * $mm DEEP (8) PLACES
17 S ACCEPT M3.5 *6mm GROUNDING SCREW
I S| 2| B[
| & Al | Bl -
ao| vo| ~=|T ~ 100
| s
=T g
- L 1
SS. 1 IL
NS 3/
-
67.9
27.1 ' 135.8
val S 7 o o s 1 |
1T uin uil uin
a5 ‘\&’ DIA 4.5mm * &m DEEP (2) PLACES

52

ACCEPT M5%10mm GRCKNDING SCREW

174.8 li. +

N\,pj

Dimensions : Millimetres

Part Number Table

Description Part Number
Box, Diecast, 67mm x 192mm x 96mm HQO007
Box, Diecast, 67mm x 192mm x 96mm, |P67 HQOO7EMS

Important Notice : This data sheet and its contents (the “Information”) belong to the members of the Premier Farnell group of companies (the “Group”) or are licensed to it. No licence is granted
for the use of it other than for information purposes in connection with the products to which it relates. No licence of any intellectual property rights is granted. The Information is subject to change
without notice and replaces all data sheets previously supplied. The Information supplied is believed to be accurate but the Group assumes no responsibility for its accuracy or completeness, any
error in or omission from it or for any use made of it. Users of this data sheet should check for themselves the Information and the suitability of the products for their purpose and not make any
assumptions based on information included or omitted. Liability for loss or damage resulting from any reliance on the Information or use of it (including liability resulting from negligence or where the
Group was aware of the possibility of such loss or damage arising) is excluded. This will not operate to limit or restrict the Group’s liability for death or personal injury resulting from its negligence.

Multicomp is the registered trademark of the Group. © Premier Farnell plc 2012.

www.element14.com

www.farnell.com
www.newark.com

Page <2>

mult?comp

17/03/14 V1.0



